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Note ;

vi)

vii)

viii)

'y
The question paper is divided into two parts — Part-A ahd Part-B.
Part-A and Part-B are divided into three Sub-Sections — (1) {2) and \
(3).
In Part-A of the question paper, there are multiple choice questions in
which select the correct alternative and then by a blue or black ball
point pen, fill completely in the circle in OMR Answer Sheet. Do not

crase, cut or use whitener on the OMR Answer Sheet after answering.

1 mark is allotted for each question in the multiple choice question of
Part-A.

Part-B has descriptive questions.

The allotted marks are given in each question.

All the questions of Sub-Sections of Part-B are to be attempted all at a
time. Start each Sub-Section from a new page.

All the questions are compulsory.
g -
PART - A
( Fgfawedta wv )
( Multiple Choice Type Questions )
JAHTT - (1)

Sub-Section - (1)

1. %ﬁmwwwwmw#mmmmﬁim@w
T T@AT g 2

(A)
(B)
(C)

(D)
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To have a real and enlarged image of an object by a concave mirror, the
position of the object should be

(A) At the centre of curvature (C)

(B) In between centre of curvature ( C) and the focal point { F)

(C) At the pole ( P) of the mirror

(D) In between pole ( P) and the focal point ( F) of the mirror 1
2. TFRRcvRNam i wEadd

(A) Hi B) i H=

(C) T wfg YFve (D) T ¥ HE @l 1
2. The unit of the power of the lens is

(A) metre (B) per metre

(C) metre per second . (D) none of these 1

3. UH WA v R s faedt s & ety e @ et ¥ a9 sess o o
S-S fgaoT Bt ¥ | W avfve Rroem few O & R @ 2

(A) e (B) Ui
(C) & (D) ST 1
3. When a beam of white light falls on the surface of a triangular prism of

glass it splits, after emerging out from the prism, into various colours

with different deviations. Which colour has maximum deviation ?

(A) Red (B) Yellow

(C) Green (D)  Violet 1
4, - I qaY ydta & e

(A) GERT & FTE gH (B) T v Y ¥ vy

(C) T & T (D) AR & FrH A" )
4. The sun appears whitish '

(A) much before sunrise (B)  at the sunrise and sunset

(C) atnoon (D) much after sunset 1
5. %ﬁﬁqamanﬁﬂuﬁmﬁffaﬁﬁmmawﬁﬂhqﬁm ?

(A) T Wt ST (B) I & URE H aeey

(C) TR o1 TR I (D) T F ’HR .
02000/34 [ Turn over
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5. On which of the following does the resistance of an electrical conductor

~ not depend ?
(A) Length of the conductor
(B) Density of the material of conductor
(C} The cross-section of the conductor

(D) The shape of the conductor 1
6.  FF AR faed <eTehl il A FH R IFH! GROTH HfARTY “EA= FW 2

(A) T F THARR w9 (T wH) § AL A

(B) Wft &t ot 1 § wirer

(C) TH I Jo1 7 | a1 dH Hl GUER w9 § 7781 T

(D) ﬁaﬁa‘rﬁmﬁmﬁwﬂaﬁrw_mﬁ?ﬁam 1

6. In which combination the four resistors be connected to have minimum

resultant resistance ?

(A) All of the resistors in parallel combination

(B) All of the resistors in series combination

(C) One in series with the parallel combination of other three

(D) Two resistors in series with the parallel combination of other two 1
7. % fagd 9REE O & B0 SO gEEy & e WA W & o

frfefaa o @ fFa fam & weEar ad § 2

(A) AT & < gy o fam (B) T & & wrr &7 Fygn

(C) e g9 & I & Fram (D)  &m® fag | 1
7. One needs the help of which of the following rules to know the direction

of the magnetic field produced duc to a current carrying conductor ?

A) Fleming's right hand rule (B)  Fleming's left hand rule

(C) Right hand thumb rule (D)  Ohm's law ]

02000/ 34
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(A} = Bi -
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(Cj

Tl AT ]
Vo

Which of the following metals produces hydrogern g2s with cold water ?

{A) Copper Bi Gold

{Cj Potassium D) Alummum
=3 ETETEE S S TSN £

(A} HC = CH (B H:C=CH:

(Cy CH, -CH, —CHE iD} CHE—CECH 1
G, The zlkene in the following is

(Ay HC =CH

(C) CH,-CH,-CH,

- - -
— e el idl ,.-.-u‘:-_._ -

—
-,

10.
(A} 1
(C) o

10. A
solution 1s
(A) 1
(C

(A}
(C) tz ggHgA A

The bo
() lonic bond

(C)

11.

02000/ 34

sojuton rurns red litmus 1N

nd present in chlonne

Double covalent bond

B H,C=CH,

(Dj CH. -C=CH 1

LT =% TEE pH T 55 %

iBj 3
Dy & 1
blue. The possible pH value of this

iB)
DI 8 1

B T WA FEw
Dy BEEETE e .

molecules 1s
(B}
(D)

One covalent bond

Triple covalent bond 1
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12.

13.

13.

14.

14.

15.

5 AEBRET - 7 39901 93 8

(A) 9= T (B) dfT el

(C) ez (D) faisies ol 1
Useful substance in making water bacteria free is

(A} Washing soda (B) Baking soda

(Cj  Alum (D) Bleaching powder 1

S SRS § AT % A G 5 A 9 €, 3¢ 5 A8
(A) WA AMHaT (B) 399 HUHA '

(C) IrTeHE FfuhHAT (p) FaaE 1
The reactions in which new compounds are formed by exchange of ions,
are called ' |

(A) Substitution reactions (B) Double decomposition
(C) Addition reactions (D) Dissociation 1
T - (3)
Sub-Section - (3)
qrEy T ARAH T B e §
(A) T H A (B) HINF &l TEH
(C) FHHT F B A (D) SIS FT @6 1
The function of xylem in plant is
(A) conduction of water (B) translocation of food
(C) translocation of amino acid (D) translocation of oxygen 1
Wﬁmﬁmﬁmﬁﬁmﬁﬁaﬂ?—@qﬁmmm 5
(A) T (B) M
c = (D) uTEi 1

02000/34
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16.

16.

17.

17.

18.

18.

7

824(EK)

In which of the following plants did Mendel perform his experiments on

inheritance ?
(A) Tomato (B) Brinjal
(C) Pea (D) Mustard

frfeifiga & ¥ ®W 9 | ART 99 93 1 9 T E 2
(A)  HUeRE (B) M

(C) harteshT (D) fer anfet

1

Which is not a part of the female genital system in human from the

following ?

(A) Ovary (B) Uterus

(C) Vas deferens (D) Fallopian tube
TUNT qreeT & folg STevas §

(A) TET SEIATFES TqUT 5 (B) IRIReT

(C) I H Y& (D) ¥ ¥ ot

The autotrophic mode of nutrition requires

(A) Carbon dioxide & water (B) Chlorophyll
(D) All of these

(C) Sunlight

queT 3hTT T ST &
(A) &I &Y T FA F IR (B)
() mqﬁm%mﬁqmﬁ (D) ¥4 ¥ 9t

The examples of homologous organs are

(A) Our hands and forearms of the dogs

(B)
(C) Runner of potato and grass

Our teeth and teeth of elephant

(D) All of these

02000/34
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19,

19.

Feia S He R & §
A) I B) d=dH |
(C) wreHfeTs § (D) ST | 1
Asexual reproduction takes place through budding in
{A)  Amoeba (B) Yeast
(C) Plasmodium (D) Leishmania 1
U SX0TETE W NiaueA e R 2
(A) = B) A
(C) =g (D) ®OH 1
Who proposed Natural Selection Theory ?
(A) Lamarck () Darwin
(C) Mendel (D) Morgan 1

qug - F

PART - B

( TUATEE W )

( Descriptive Questions )
JTUTT - (1)
Sub-Section - (1)
o= X aEF W, 99 ¥ 7 @ 6 7 q%d H IEE & o, 2 Wex awar e
et mmm, 4 T F1E1 A A WS T F Igw vt gd F e gl
w3 FE EE 0T AT ST S WHEIET
2+2
A convex mirror of radius of curvature 2 metre is attached to a motor
bike to watch any other vehicle coming from behind. Calculate the

location and position of a vehicle which is at 4 metre behind the bike as

seen in the mirror. Also explain by the ray diagram. 5 +0

02000/34
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—r—r
[ tiet

e

, 3% 3} diifen ww s arfuw @ s 100 X F T @ <@ T
| TR R B wdl qRe & fod s orta g A da e F o SE S
THT T R Siew g & oig w1 i s @ e s o e 2+ 2

A person '
suffer .
uffering from short-sightedness can see up to 100 metre.

Calcula
te the nature and the focal length of the lens in order to correcl
sion. Also

this defec i
ct so that he can see objects at infinity hence correct V1
2+2

draw the ray diagram.

“maﬂhmam%?3mﬁammjmmﬁﬁﬁﬁﬁvmmﬂ#ﬁMNﬁﬁaﬁﬁ
fr w forega oot @1 whRly fea-fee Tt @ PR & 8 2+2

What is Ohm's law ? Explain by drawing the associated circuit diagram.

Also discuss the terms on which the resistance of an electrical conductor
2+ 2

depends.
mﬁﬁ@aﬁhzmﬁﬁﬁwﬁmmaam%?3wﬁrmﬂmé$ﬁﬁﬁanﬁammm

1+2+2+1

e Ui ST |

FHEgar

tﬁmﬁﬁmﬁﬁmﬁﬁﬁaﬂmﬁﬂﬁﬁmaam%?3@ﬁt¢ﬂ¢i$@ﬁﬁaﬁﬁa

1+2+2+1

FATHT U HAT

s the working principle of an electrical motor ? Describe clearly its

What i
ruction and working method with the help of a diagram.

const
1+2+2+1

OR

e working principle of an alternating current generator ?

what is th
its construction and working method with the help of a

Describc
1+2+2+1

diagram-
[ Turn over
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IQITT - (2)
Sub-Section - (2) Lel14l41

5. frAfeifaa At ot draem fafia it

(@  Wue

(b) 2-Af quHEE A

(c) i

(d 2-3% -2 Le1el

‘ . . + +

5. Write the structural formulae of the following cgmpounds 1

(a) Propanal
(b)  2-methyl pentanoic acid
(c) Propene
(d)  2-methyl butanol-2

6. N;IL Méﬁmﬁ&ﬁﬁrﬁ,ﬁaﬁﬁzﬂmﬁﬂiﬁ?ﬁﬁﬁmmz T, I A«
i &1 w0t () e wm B sfudan ¥ 2 (@) B9 ged S sfuaheavier
¥ 7 y&% % fow sRor wied s S 2+ 2

Na, Mg and Al are the elements in which the numbers of valence
electrons are one, two and three respectively. (a) Which of these elements

has the maximum atomic radius ? (b) Which of these elements is the
least reactive ? Answer each with the reason.

7. e sfirret sl & fe e T wheo fofa

2+ 2

------------
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(d) Mﬁ’mtr +

0 R T + difem amteEs o + Qifeaa A3

fFrfefas @ froquht ffgs 2+2+2
(@) R iy
(b)  HeIwoy
(c) IWIE A9

7. Write the balanced chemical equation for each of the following
reactions : 1+1+1+1+1+1
(a)  Plaster of Paris + .......... & Gypsum.

(b) Hydrogen + Chlorine — .........

(c) Zinc carbonate — Zinc oxide + ..........
— Magnesium chloride + Hydrogen

(d) Magnesium + .........
+ Hydrochloric acid

(e) Barium chloride + Sulphuric acid — ..........
+ Sodium nitrate.

(f) Silver nitrate + Sodium iodide — ..........
OR

Write notes on the following : D+ +2

(a) Dissociation reaction

(b) Corrosion '

(c) Galvanization.

AT - (3)
Sub-Section - (3)

fmgﬁga;ﬁnnxauT? 7 It 3fad fel g wweRT ) 2en

8. del's laws ? Explain them with suitable diagrams. 241

what are Men

. gﬂ:fiﬁﬁﬁﬁfﬁmﬂ‘*‘“ﬁﬁﬁ'*$#3§‘#H““7*}F““iﬂﬁ”$Tqnm%ﬁrﬁﬁraqmq |

9.
; gt HoTe ! o 2+ 2
o pelled diagram of longitudinal section ( L.S.) of )
praw & 12 . , -} of gynoecium to
9. fertilization 1 flowers and describe it.
show th¢ ¢ 2+2
[ Turn over
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10. & eI & HE¥AF ¢ 2 90 Hifw | 4
10. Why is conservation of forest necessary ? Explain. 4
11, gEEN] () T T @ SaR s & Ao B 3+3
AT
g ¥ qTaR dF 1 Aiked T ST qen qeor qfear s eEened ! 3+3
11. Explain the structure of Nephron and mechanism of its working. 3 +3
OR
Draw a labelled diagram of human digestive system and explain ih;
digestive process. 3
———
824(EK) - 4,90,000
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